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By one more than the previous one.
gt <t o W IR St 5| W Q)
All from nine and last from ten.

@ (TL) AR fove <Al TR |
Vertically and Crosswise.

T&IT0T Y SYANT i |

Transpose and apply.

T TOM BF T I Bl €|

When the 'Samuchaya's are the same, that
'Samuchaya' is zero.

STETA B TR SHA I il 2|
If oneisin ratio, the other one is zero.
Sigeh 3R TRl

By addition and subtraction.

3TqUf <kl Ui |

By completing.

FeT-held % G

By Calculus

a1 1 2 steifq fomrem|

The Deficiency

Teh oI Ui IR guf i T A g
Whole as one and one as whole.
3ifaw 37 | TR i |
Remainder by the last digit.

a1f=am IR Suif=ad =1 g
Ultimate and twice the penultimate.
Tedd § Teh &Y & g

By one less than the Previous one.
TfoTd A1 S|

The whole Product.

T0TehI Rl TH==4|

Set of Multipliers.
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1. MIEETT - Jeudl & g

Proportionately.

2. Toreaa vroE: - o9 U 9T HEd B
Whcih remains, is called remainder
3. SEHEFTET=AT - UEH i Ugd W, 3ifaw ot 3ifaw |
First by the first and last by the last.
4, HaA: AR UATd - ok, d, AT 9 7 AT UM
I;/I/l%l)tiply 'ka' (1), 'va' (4), 'la' (3) by 7 (Fromula for
5. g=Aq - Taursi=ar gheur st U fafvre forar
<hl AH
The osculation. (Amethod for divisibility test.)
6. TESH AT - TS 0 S 3R S

What ever deficiency further lessen that much.

7. AEgH AEgAEE@ O - AT & SaW 3R &W weh an @t
ST o AT ot |
Lessen by th deficicency and add its sqaure.
8. TTACIThSTY - 3ifqu 3feR a1 ART T4
Sum of last digits is ten.
9. FTIART - ohad dfad gl
Only by the last.
10, HEEATUTA: - e UM

Product of whole.

11, FHUATRLTIATST - foetoe uE et Rl

By Elimination and retention.

(PRCCICE - 3TFdehT gl
Byo’bserving. .

13, TS WS- T & e S U S T
@ T[Tkl hl ART GHIE ST
Product of the whole is equal to whole of the

. . product.

31 fafyrse HeheaTe -
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2. 95 - yiferE Twidm (Purity)

3. &aSlich —  HTd o TATT T 37h1 (Flag digit)
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STETY-1

Chapter - 1 Numbers

1.1 9 TehTIereh gaur ;-

1.1

T qa0T S 913l ‘Tehifeeh’ 3R & @ S ©1 39 <Al
I 1 21k TE AN TS W B YA i TR W YA A
Y Hehal 2|
TR — dfger T § WehTfuek <1 31ef BT § - Uek 3Afuh|
I ORI THTER =0 +1 =1

1 FITHINR =1+]1=2

12 T ThIYh = 12+1 = 13

Formula One more than previous one:

One more than previous one is composed of two words one
more and previous. On understanding the meaning and use of
these two words, the student can solve the question with the
help of the formula.

One more than previous one.

Like : Ekadhikof 0=0+1=1
Ekadhikof1=1+1=2
Ekadhikof12=12+1=13

T8 T&AT 1 ThITYE K Bidl 7, 39 T&l & THhE 3 B
FR Teh fag o < B 98 fos wehifeeh Toga ot 21
S - 3R THTSFR =13+ 1= 14

The number of which to be one more, the unit of that number
puts a point over the number. This point is called one more
symbols.

Like:onemoreof13=13+1=14
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e o feeft ot sie Wity 1 fRan ST 9hdl 21 39 3k
R Tehifash fogd @ <ifSe i e e =1 4 A6
ity
T T 37¢f e § 9 T T’
S - 36 7 6 1 qd 3 = 3

185 H 5 ! qd H&AT = 18

59 5% qH 3 = 0
one more of any figure can be known multiple in the numbers.

Place one more symbols on that number and find the value of

the new number.

The previous means 'before'

Suchas: previous digitof6in 36 =3
previous numberof5in 185=18
previous digitof5in5=0

1.2 UehTIerehd gt :-
THITYe a1 9 1 31 T JAN 90 T §&1 & fopdl o
3Toh & TehIfereh=T oo <1 71 =1 fafer & feran < geran 21
fafer :-
| @& % 4 3k 8|
2 39 3k W Tl foga o i
3 Uehlf¥eh o offt e &A1 o1 4 e
1.2 Ekadhikenapurvena
On the basis of one more & previous meaning and usage, the
value of one more than previous of any number can be written
by the following method.
Method: -

1. ldentify the previous numbers.
2. Mark one more sign on that number
3. Write the value of new number marks with one more sign.
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HEMH HIAT / Exercise No. - 1.1

YA-TehTTIeh= YeIUT o Wl | Feliv Hen &1 ur ferfaa)

(1) 8 08 18

(2) 263 H 3ih 6 A 263 363

(3) 540 H 31H 4 BT e e,
(4) 981 H 31H 9 BT v e
(5) 1785 T 3R 7 BT v e,
(6) 2501 H 3TH 0 BT v e,
(7) 8940 W 3F 9 T covrveeeees s
(8) 9354 H 3TH 3 Bl v s

Write the value of number using the formula one more than
the previous one.

Non Number eku
(1) 8 08 18
(2) Value of Number 6in 263 263 363

(3) Value of Number4in540 - e
(4) Value of Number9in981 - e
(5) Value of Number7in1785 - —eemmemee
(6) Value of Number0in2501 - cmemememeeee
(7) Value of Number9in 8940 - - oo
(8) Value of Number3in9354 - e
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Chapter - 2 Addition

TG aTel 2 % Yo | T ThITesh qao1 o1 A |

One more than the previous one formula is very important in
remainder addition

2.1 Tafer ;-
AT I GHT ANTHS 19 3feh W <9 1 9 § 31f¥es 81 Sy
@ SE Sfh W B 3k W Uk o ol 3T TRt B
Y T TTH SHTS o 31 I Tl 3{eh H SISl TH TR AN
I TehiTeesh Foe o 1 3R 31 | =9 ATHe ! A
% I T AT I8 fohan S8R WP 311 <8TS o iRl i

Sigd THT w1 St 2|
IETEIOT 1 - I hifSIT ;-
Hehd
(1) 7+6=13,31d: 6 & Y4 3i%h 9 W THITHH foa|
(2) U 3+8=11, 37d: 5 T LIk f

0T Gy A i e e
) (.) ? ° W eﬂTﬁ8+9 18, &d: 9ﬁaéowwfwﬁ€~n
R (5) ¥ 8+5-14, a: sﬁﬁmomqaﬂfw
241

IEES]
(6) kﬁﬁmaﬁ:ﬁ%aﬁ@WqU%i@l
(7) aﬁrﬁmo 2, == fere|
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2.1 Procedure
if the total becomes ten of more than ten by addition than make
one more sign before that number and by subtracting ten from
total, add unit number in the next number, put one more sign by
adding and put the remaining sum in place of the sum. This
action is done while adding the numbers of the second column.

Example 1:Add Hint

1) 7 + 6 = 13, one more sign on number 9

before 6.

g 7 2) Remainder 3 +8=11,one more signon 5.
. . 3) Write beloyv remainder 1 in place of total

+ 096 4) Next 8_+ 9 = 18, Put one more sign on 0

° o before 9.
*058 5) Remairlder 8+5= 14, One more signon 0

2 4 1 before 5

6) Write Remainder 4 below i.n pl.ace of total.
7) Addinthelastwrite down0+0=2

STHMH HIAT / Exercise No. - 2.1

afger Tfoa ugfa ¥ g &

Solve using Vedic mathematics method

(1) 98 (2) 292  (3) 1643
+49 +324 7395

+ 3 4 +158 +4976

(4) 3045 (5) 2305  (6) 2233
8423 8547 1671
+2659 +1480 +9999




(7)

2.2

2.2

637 (8) 1367  (9) 7654
584 2653 1234
492 4518 2345
+ 836 + 1831 + 5457

AT-FRaAT (T TRITAHRT TS T )

G U QEv & FA W A9 $hEA (eI, didt, e,
e 31fe) & AN o 99 o Seetar 9 R S Eehd 21 shee
BEI Sl T Fafd ®9 9 faea o =ifew) f1=1 s
Y 1 (FH-UY) & I T i Tty wmeh S Hend 2|

Adding operation (Formula Ekadhiken Purven)

Question of addition of measurement units (Currency, weight,
length, holding etc.) Can be solved easily using formula one
more than previous one. Only the students should know to
write the answer in a organised manner. The procedure of
adding the total of currency (Rs., Paise) by the following
examples:

ISTEIUT 2- AT HITAT / Find the sum

Hehd / Hint
e dp (D) 0+0+0 = 0, ==t feren
7 60 Write below0+0+0=0
.o (2) 6+4 =10, 37d: 4 & I 31 3 W THIYUH
03 40 2
+18 50 6 +4 =10, So put one more sign on number
29 50 3 before 4

AN o

(3) TWOH 5 SIST, ANTHA 5 == feran|
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